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int ans=2, a=4, b=8;
RDBNZRITUILEDZE ans DIBZEB AR,

(1) ans = b + a;

(2) ans = b - a;

(3) ans = b % a;

(4) ans = ans / ans;

(5) ans = ans * a;
&l 2 BHERDIDICES UL,
int a;
RDEXZETULEDEH a DEZE RIS L),

(6) a=(5-2);

(7) a = (int)1.0;

(8) a = (int)2.8;

(9) a = ((int)(2.5 + 3.6));

(10) a = ((int)2.6) * 2;
&E 3 BHZERDIDICES UTHIHEAE L.
int ans=-1, a=2, b=1;
RDBFNZRITUILEDEE ans DIEBZSEZIRS ).

(11) a = ans = b;

(12) ans += a;

(13) ans++;

(14) ans += (ans + b);

(15) ans *= ans;
&4 BHZERDIDICES UTHIHEAE L.
int a=2, b=3;
ROBNXZEZITUIZBEBEEAND (true X2IE false) ZBZZ ),
(16) System.out.println(a != a);

(17) System.out.println((a + b) == 5);

(18) System.out.println(a < b);

(19) System.out.println((b % 2) != 0);

(20) System.out.println((a += b) == 2);
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(1) System.out.println( 1 + 1 );

(2) System.out.println( 1 + "1" );

(3) System.out.println( "1" + "1" );

(4) System.out.println( "1 + 1" );

(5) System.out.println( 1 - 1 + "1" );

(6) System.out.println( 1 - "1" + 1 );

(7) System.out.println( "1" - 1 + 1 );
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int a = 2;
ROSZI— FZRTUCBEENZS RS, CCTI— RFROiTOR
N—RxEJF—BED RN TUVE T, [@EHHSINBENESEEE TX] ZHBE
WICB RIS, (525t 20)
(1) if(a»2)System.out.print("A");
(2) if(al!=2)System.out.print("B"); else System.out.print("C");
(3) if(true)System.out.print("D"); System.out.print("E");
(4) if(false); else System.out.print("F");
(5) if(true){if(false)System.out.print("G");} else System.out.print("H");
(6) System.out.print(0.5 * 3);
(7) System.out.print(012);
(8) System.out.print(0.le+2);
(9) System.out.print(OxeF);
(10) System.out.print(true);
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(1) oxoe

(2) "1

(3) -1

(4) 2.5e-1

(5) '1°

(6) 1.25

(7) o1

(8) "true"
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import java.io.*;
public class Intermediate5
{
public static void main(String[] args) throws IOException
{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
System.out.println("SHBDINA () ZAAHDLTIES0\");
int income = Integer.parseInt(br.readlLine());
System.out.println("SHA®MX=E () ZAAHLTIES0\");

int spend = Integer.parseInt(br.readlLine());

RS
int balance = income - spend;
if(income * spend >= 0)
if(balance == @) System.out.println("EFIEQ");
else

if(balance > @) System.out. prlntln( ‘B,
else System.out.println(’ D=k );

}

else

System.out.println("1E ULSSUVNVEBDADESNELE");
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